| Efficiency vs Dxy |
> 0.2
<

5 - : : : : : :
0 018 P preee proeee R
< : : : : : : :
L T U S

9 - H H H H N N N
e Nt EE HE S S B S
E . . . . . . .

DS uTESS SAFURSS SRS O 0 16 S s

e
0,085 oot J b
e o I B S B TOT 11T O R O
004? ------------------ ' L
0.02:— --------------------------------------

C [
Illlpl TT

10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.2 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
N . ' T T T
> : : :

0 0,18 b
> C : : : : :
§ OB |-
() - : : : : :
E 014 Frrereree frorereeeee AR IR A
() : : : :

O b e R O Rl e e Al | SR
oab- Il

0.08

....................................................

0.06

0.04 [t {1 : § 4 *
002§~-~-5~-"'fhrﬁfﬁ"“ﬁﬂi' l

J-Q_IIII:IIII!IIII!IIII:"IIII:IIII

Ratio

il SRETENE

% -%--

30 -20

.-

10 20 30
TP dz (cm)




	Contents
	Page 1


